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HTHTT 597

[HETICTRGT 145911 %1 95 GIaer] & 9igq 37K 371 Gl & YIcid BIoT :

(i) 39 Y97-99 4 38 Y97 & | @Y 97 H1Aa1d & |

(ii) T8 Y97-97 Qe @Sl H [q9ifSa 8 — &, &, T, 905 & |

(iii) WUE & H Y97 &1 14 18 % aFgladshedid (MCQ) 7T J97 §&I1 19 T 20
3YFHIT TF d% STERT UFH-Uh 3% & J97 & |/

(iv) WIS T Y37 G&IT 21 G 25 % 3ld TG-FTIT (VSA) IHR & §1-g1 3751 & J97
&/

(v) @USTH 97 G&I726 4 31 T TH-IFH1T (SA) JHR & di4-di7 37H] & J97 8 /

(vi) TUE g H 97 &I 32 T 35 % FH-ITIT (LA) FHR & Grer-gie 37H & J97 & |

(vii) WIS F H J97 G&IT 36 T 38 TF YT IHeIIT HTIRA TAR-°R b & J97 & |
Yegh JHU HeTTT 7 SFIdRb [dhcq S1-8T 3hl & 97 7 1797 T=_T & |

(viii) ¥¥7-99 H GqF fdeheyq 781 1597 797 8 | Iei4, @8 & & 2 Yo7l 4, @8 T & 2 Jel
4, @S T &2 Y5 H d9 @ & & 3 Y91 8 HIdke fabcq &7 JIae 791 737
& /

(ix) &1 3Tavas & e HHadl G737 | T&T HEvTeH & 1 = 22 s, afz srrar
7 1337 777 &7 | !

(x) ol BT ITIIT qfid & |

Qus <h

39 @UE 4 gglashedid 397 (MCQ) &, 1574 % J97 1 37% %] & |

1. Ta=fcfga 5 @ g fgama aHisor o gal & IThd 4 8 ?

(a) 2x%2-4x+8=0 b) —-x2+4x+4=0
(c) \Exz—ix+1=0 (d) 4x2—-4x+4=0
J2

2. TI591 14 em 91 T g9 % Fsu@E, [ET g Hi0 90° &, I TG =19 H

ATSTS T & ?

(a) 22 cm (b) 44 cm
(¢) 88 cm (d) 11cm
30/2/1 ~~~~ Page 2
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(i1)
(i11)
(iv)
(v)
(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case-study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and

3 questions in Section E.

. . 22 . .
Draw neat diagrams wherever required. Take 1 = Cl wherever required, if not

stated.
Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

Which of the following quadratic equations has sum of its roots as 4 ?

(a) 2%x2 —-4x+8=0 b) —-x2+4x+4=0
(c) \/§x2—%x+1=0 (d) 4x%2-4x+4=0

What is the length of the arc of the sector of a circle with radius 14 cm
and of central angle 90° ?

(a) 22 cm (b) 44 cm
(c) 88 cm (d) 11 ecm

30/2/1 ~~~~ Page 3 P.T.O.
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gfc AABC~APQRH, /A=32°3 ~R=65°%, dl ~ Bl A9 2 :

(a)  32° (b)  65°

(c)  83° d)  97°

PRIt ‘P’aﬁ-{ ‘q’ Aehd HEU 3 37K ‘p’ﬁ"@l‘l‘q’m T'Fﬂ%, Gl ‘p’aﬂ'{ ‘g’ sl HCF
T B ?

(a)  pq (b) p

() q (d) p+q

Uk 31¥d ABCD fr&es & sfis B(0, 0), C(3, 0) 3T D(0, 4) &, 39 ¥ A &
EEUE LR

(a) (4,0) (b) (0, 3)

(c) (3, 4) d) (4, 3)

i G IH 3x —y + 8 = 0 3 6x — ry + 16 = 0 g1 &iUd {@r¢ Furd
3, @ 9’ 1 °HE B

1 1
(a) ~3 (b) B

() =2 d 2

T Il H 100 T & 5 T 15 100 d 6l G&IT 3Afhd & | 39 9 H & T
OAT ATGTSAT ehTell SITAT 8 | 39 I W Ush QU o G 3Afehd BIH hi TTTIehal
1 gl 2

i 3
| i
(C) 2—5 (d) m

Wﬂﬂ‘ﬂx=aaﬁ?y=b§mﬁﬁﬁﬂwmmﬁ:
(a) U GHTAE BIdl &

b) fag (b, a) W Afi=adl & &

(¢c)  gyrdt Bt 3

(@) o5 (a, b) W ufd=adl ardl

30/2/1 ~~~~ Page 4
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3. If AABC ~ A PQR with £ A = 32° and £ R = 65°, then the measure of

/ Bis:
(a)  32° (b)  65°
(c)  83° (d) 97°
4. If °p’ and ‘q’ are natural numbers and ‘p’ is the multiple of ‘q’, then what is
the HCF of ‘p’ and ‘q’ ?
(a)  pq b) p
() q (d) p+q
. The coordinates of the vertex A of a rectangle ABCD whose three vertices
are given as B(0, 0), C(3, 0) and D(0, 4) are :
(a) (4,0) (b) (0, 3)
) (3,4) d) (4,3)

6. If the pair of equations 3x —y + 8 = 0 and 6x — ry + 16 = 0 represent
coincident lines, then the value of v’ is :

1 1
— = b el
(a) 5 (b) 5
(c) -2 d) 2
7. A bag contains 100 cards numbered 1 to 100. A card is drawn at random

from the bag. What is the probability that the number on the card is a
perfect cube ?

1 3
(a) % (b) 5—0
1 5
=% d &
© 95 ‘D 100
8. The pair of equations x = a and y = b graphically represents lines which

are :
(a)  parallel

(b)  intersecting at (b, a)
(¢)  coincident

(d) intersecting at (a, b)

30/2/1 ~~~~ Page 5 P.T.O.
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10.

11.

12.

30/2/1

af¢ 9892 6x2 + 37x — (k — 2) 1 T ek, qHL ST hl Jcshd &I, dl k Hl
qT= T BRI 2

(a) -4 (b) -6
(¢) 6 d) 4

Tsh 319 Y-, TSeh1 =918 ‘A’ ], &1 99U IEIF &5ha FA1 BRI 2

(a) 3nd? b) 2rd?

L

) = nd> (d)  d?

I 9 ok Th 1Y IDA I &, dl TIH-Y-3(eh Tsh U2 Ured g hl
UTRIehdT &1 BT 2

3 4
(a) 3 (b) 3
5) 7
(c) 3 (d) 3

§t T3 3Rfd H, DE || BC | A AD = 2 3%, DB = AE = 3 $%13 3K
EC=X3$@%,FI‘TX$T“H'H8‘T’TI:

(a) 2 (b)
(c) 5 (d)

oo WO

~~—~—~ Page 6
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10.

11.

12.

30/2/1

If one zero of the polynomial 6x2 + 37x — (k — 2) is reciprocal of the other,

then what i1s the value of k ?
(a) -4 (b) -6
(¢c) 6 d) 4

What is the total surface area of a solid hemisphere of diameter ‘d’ ?

(a) 3nd? b) 2nd?
1 9 3 2
(c) - nd (d) : td

If three coins are tossed simultaneously, what is the probability of getting

at most one tail ?

3 4
(a) g (b) g
3 7
(c) 3 (d) 3

In the given figure, DE || BC. If AD = 2 units, DB = AE = 3 units and

EC = x units, then the value of x 1s :

(a) 2 (b)
(¢) 5 (d)

Do W
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13. @H@ﬁﬁ%ﬁﬂéﬁcmﬁ% Iiﬁﬁém7:203.m.3ﬁ'{7:55a.m.%
&= S i U= AT, 98 B

1Ry 35\

(c)  35° d)  70°

14. E@Ep(x)=x2+4x+3;§v k’kﬂ%%:

(a) 1,3 (b) -1,3
(0 1,-3 d) -1,-3

15. @ T3 3AB{d H, T Id & TG Th Ig4sl PQRS &1 2 | &l PA + CS SIsK
g :

(a) QR . (b) PR
¢c) PSS d PQ
16. 3G o 3R B, fgad 9§98 p(x) = x2 — ax — b % I[IT® &, A o2 + B2 FH AH
BT
(a) a2 — 2b (b) a2 + 2b
(¢ b*-2a d) b%+2a

17. @l 5+%=1Hmﬁi‘¥r‘@3¢a‘iﬁaﬁﬁgam%am%:

a

(@) ab (b) %ab
1
(c) 2 ab (d) 2ab

30/2/1 ~~~~ Page 8
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13. The hour-hand of a clock is 6 cm long. The angle swept by it between
7:20 a.m. and 7:55 a.m. 1s :

35Y 35Y)
(a) (I) (b) (?)

(c)  35° (d  70°

14. The zeroes of the polynomial p(x) = x2 + 4x + 3 are given by :
(a) 1,3 (b) -1,3
(c) 1,-3 d -1,-3

15. In the given figure, the quadrilateral PQRS circumscribes a circle. Here
PA + CS 1s equal to :

(a) QR (b) PR
(c) PS (d) PQ
16. If o and P are the zeroes of the quadratic polynomial p(x) = x2 — ax — b,
then the value of a2 + [32 157
(a) a%?-2b (b) a?+2b
() b*-2a (d) Db*+2a
17. The area of the triangle formed by the line = % = 1 with the coordinate
a
axes 1s :
(a) ab b)  ab
1
(c) Zﬂb (d) 2ab

30/2/1 ~~~~ Page 9 P.T.O.
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18

<l TS eThfa #, AB || PQ | If¢ AB=6cm, PQ=2cm 3 OB=3cm 2,
OP & T8 BIfY -

B

A
(a) 9Y9cm (b) 3cm

(¢) 4cm (d) 1ecm

Yo G&Il 19 3R 20 Y4BT Ta T HEIRT J97 & SN JAF FH FH 1 HF
& | G FF 157 T & 15779 T &1 37195 (A) TIT GR F1 T% (R) ZRT 3bd 16971 T
g | 7 Fo1 & T&l I A 17 7T F1S] (a), (b), (c) R (d) H & FTH 7T |1

19.

20.

30/2/1

(a) 3T (A) 3 T (R) gHI T&l 8 3R T (R), AMURAT (A) i Fal
STEIT HLdT & |

(b)  AMHHAT (A) 3R T (R) Al Tal &, g dob (R), ATHHAT (A) i Fal
ST g1 il & |

(c)  IA9HYF (A) F&l 8, T deh (R) Ted & |

(d) 39 (A) Teid 8, Tq dh (R) Tal & |

3BT (A) : I < TRl g W Toxi-tEr wyf foig 8 9 arefl Bisen w o

gl 8 |
7% (R) : 9Tl Tog ¥ 99 W i 73 TRiI@Si i Ararsal SUe gl & |
HHHIT (A) :  §IG p(x) = x2 + 3x + 3% Gl dATEd(dh I 3 |
7% (R) : Ush TgaTd gue = 3fereh-4-31feeh gl ardfdeh I &l Hehd 3 |

~~~~ Page 10
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18. In the given figure, AB | PQ. If AB = 6 cm, PQ = 2 ecm and OB = 3 cm,

then the length of OP is B
S Q
g
>
. 5
o
o O
P
A
(a) 9Ycm (b) 3ecm
(c) 4cm (d 1lem

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from

the codes (a), (b), (c) and (d) as given below.
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) 1s not
the correct explanation of the Assertion (A).

(c)  Assertion (A) 1s true, but Reason (R) 1s false.
(d)  Assertion (A) is false, but Reason (R) 1s true.

19. Assertion (A): A tangent to a circle is perpendicular to the radius
through the point of contact.

Reason (R): The lengths of tangents drawn from an external point to a
circle are equal.

20. Assertion (A) : The polynomial p(x) = x* + 3x + 3 has two real zeroes.

Reason (R): A quadratic polynomial can have at most two real zeroes.

30/2/1 ~~~~ Page 11 P.T.O.
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Qs @

39 VS 4 37fa Tg-3TIT (VSA) THR & J97 &, 1570 9% & 2 37 & |

21. fag Fifve f6 2 + V3 T iy g g, foar o 2 6 V3 & smimy
qET 2 |
22. (&) IiC 4 cot245° —sec2 60° + sin2 60° + p = %%,Fﬁpmﬂ'ﬁﬂ'ﬁﬁﬁlﬁl

HAAAT

(@) 9fc cos A+cos2A=1%, dl sin2 A + sin4 A &1 g Td HIT |

23. guse 6 foig (- 2, 3), (8, 3) 3T (6, 7) T THahIvr Fioget & i § |

24. (%) TS GHAA THH W TSI THARX $iI BMT, TR 6l S5 hl /3 THI el
2 | g o1 IFAT TG hifor |

HAAIT

(@) oW % Tk fog 9, S #HRL & ure-fag ¥ 30 m I g W 3, HHR &
ST &1 3T &I0T 30° 3 | AR sl =18 19 hifT |

25. ol g 3Mhid H, I I shg O 7 | fdg A ¥ 39 g9 W AB IR AC TRii@rd
@it T3 & | I £ BAC = 65°%, d £ BOC ! HIY A1 HIWT |

30/2/1 ~~~—~
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SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. Prove that 2 + +/3 is an irrational number, given that +/3 is an irrational

number.

22. (a) If 4 cot?45° —sec2 60° + sin2 60° + p = %., then find the value of p.

OR
(b)  If cos A + cos? A =1, then find the value of sin? A + sin? A.

23. Show that the points (-2, 3), (8, 3) and (6, 7) are the vertices of a
right-angled triangle.

24. (a) The length of the shadow of a tower on the plane ground is /3
times the height of the tower. Find the angle of elevation of the
sun.

OR

(b)  The angle of elevation of the top of a tower from a point on the
ground which is 30 m away from the foot of the tower, is 30°. Find
the height of the tower.

25. In the given figure, O is the centre of the circle. AB and AC are tangents
drawn to the circle from point A. If ©~ BAC = 65°, then find the measure of

Z BOC.

30/2/1 ~~~~ Page 13 P.T.O.
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Qus 1

3T G H TY-IHIT (SA) FHR & J97 &, Io78 Tk & 3 3% & /

26.

27.

28.

29.

30.

(%) TEARAT 18180 3T 7575 w1 JUSY [UHEsA fafy gra LCM FTd
$IfST | 39 @ @Al @1 HCF i 3a shifvre |

HAAAT

(@) o =fear 6, 12 3t 18 el & faua W awidi § | afg ¥ i dfeat
Th G196 a.m. TSl &, G I8eh 9= o dqH1 Teh A1 hel S 2

fag hifu -
( L —(:056](_1 —sin@]= 1
cos O sin O tan 6 + cot O
afg fag Q(0, 1), f9gaTi P(5, — 3) 3R R(x, 6) ¥ THEAH gl W &, d x & HM

Fd hifTT |

Ush SR o @ dI3W (wipers) &, S TER ¥l 3T=ST(ceh 8] ald a | I
JT3U hl Uil hl T3 21 cm & 3T 120° % IV doh GH HL hIg L Hohdl
2 | gl gl Sl I g8 o @1y a1 &F%d 9% g Sdl 8, 98 ¥
hIFT |

(%) afe Wasw it Fem

2x + 3y =7 d¥Ul 2ax+ (a + b)y = 28
o YN ®9 & 3% & &I, dl ‘@’ 3T b’ o AN FTd hI9U |
SOCI

(@) dafe 217x + 131y = 913 3 131x + 217y = 827 &I, dl x 3 y & HH
Id A & fou g g Hifsw |

30/2/1 ~~~~ Page 14
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SECTION C

This section comprises of short answer (SA) type questions of 3 marks each.

26.

27.

28.

29.

30.

30/2/1

(a) Find by prime factorisation the LCM of the numbers 18180 and
7575. Also, find the HCF of the two numbers.

OR

(b)  Three bells ring at intervals of 6, 12 and 18 minutes. If all the

three bells rang at 6 a.m., when will they ring together again ?

Prove that :

( 1 ] ( | . J |
—cos 6 , —sSmo | = ;
cos 0 sin 0 tan 0 + cot O

If Q(0, 1) 1s equidistant from P(5, — 3) and R(x, 6), find the values of x.

A car has two wipers which do not overlap. Each wiper has a blade of

length 21 cm sweeping through an angle of 120°. Find the total area

cleaned at each sweep of the two blades.

(a)  If the system of linear equations
2x + 3y =7 and 2ax + (a + b)y = 28

have infinite number of solutions, then find the values of ‘@’

and b’.
OR
(b) If 217x + 131y =913 and
131x + 217y = 827,

then solve the equations for the values of x and y.

~~~—~ Page 15 PO
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31. ¢ 75 3hid H, g1 H hg O A4 QPR I & fog P W Twid@ & | f4g
hifoe foh 2 QAP + ~ APR = 90°.

Tuis Y
3G GUE 4 ZH-3T0F (LA) YHR & 97 &, 1578 Y9 5 37F & |

32. U el 45, 39, 33, ....... o Tohdd 9ei T AMTHS 180 BIT ? Tral I <hl
ST FifSu |

33. (%) THg-AA ¥ 75 m Sl ATSC-EHT & W& ¥ @4 W gl Hg! &l o
AGIHT B 30° HR 60° & | Il AREEHI % Th &l AN Th
SES gEl SE % dl 1 81, i 3 STeSl & s sl gl Fd iy |
(/3 =1-73 =1 91T HifQ)
S DG
(@) 9fH s TH fag 9 Th 30 m 9 9 o R W ol Tk F=R HAR &
el 3T TG o IFIF =107 HEI: 30° AR 60° 8 | FOR HHAX Hi SR
T4 ST | (V3 = 1-73 &1 33 hifsm)

34. T BE A Al Toha1 foh Toh TS W Toh T I T[oRA dTcil BRI hl T&AT Th
3 fiFe 1 100 7afer™t ° fopat 8 3R 38 19 & 73 drfctest d Grisma fopa
T 2 | Ffafga stfeet 1 arew qen wiewss 3719 ki |

ﬁ_lﬁ?ﬁ

[

SIECIEG]

(3rater)

0-10110-20|20-30|{30-40{40-50/50 -60|60 —70 (70 — 80

7 14 13 12 20 11 15 8
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31. In the given figure, O is the centre of the circle and QPR is a tangent to it
at P. Prove that £ QAP + £ APR = 90°.

A
(7

e

Q P R

SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

32. How many terms of the arithmetic progression 45, 39, 33, ........ must be

taken so that their sum is 180 ? Explain the double answer.

33. (a) As observed from the top of a 75 m high lighthouse from the
sea-level, the angles of depression of two ships are 30° and 60°. If
one ship is exactly behind the other on the same side of the

lighthouse, find the distance between the two ships.
(Use V3 =1-73)

OR
(b)  From a point on the ground, the angle of elevation of the bottom
and top of a transmission tower fixed at the top of 30 m high
building are 30° and 60° respectively. Find the height of the

transmission tower. (Use J3 = 1-73)

34. A student noted the number of cars passing through a spot on a road for
100 periods each of 3 minutes and summarised it in the table given
below. Find the mean and median of the following data.

N“‘;ﬁ”f 0 —10{10 —20 |20 — 30|30 — 40 (40 — 50|50 — 60 |60 — 70 | 70 — 80
Freqt_lency 7 14 13 12 20 11 15 8
(periods)

30/2/1 ~~~~ Page 17 P.T.O.
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35. (%) TUH BYS ABC I Y AB 3T BC qAT HIEIHT AD Th 34 B
PQR 1 shHYT: YSsTi PQ 3R QR AT HIfedshl PM & THTUT & |
@95t f6 A ABC ~APQR? |

Jrera
(@) wuTd IgYS ABCD I o1 CD & Hed-fog M 8 U 1@l BM Eidl T3
S faekul AC %I foig L W 3R 9@z T8 Y11 AD I fog E W hredi 2 |
fag ifse & EL = 2BL.

“us &

G EUE T 3 YHIU 37e9F7 HTYIRT 97 3 5789 Yedb & 4 37 & |
THTUT AT - 1

36. TUsh fIameiy = dMf¥es fegq W yagsh! 4 394 oy gHsR foenfe=i = Tehe

&R o HIY-H1Y Hid-fag |t &1 =@ | y@w Wid g idws 13 Ahid o+
ST 9911 TR 99T $HehT ITMYR ABCD #WH il 3R ¥ fegar o | fae
TATSN 1 @9 T 20 Ufd 1 Il 7 |

Y
3 cm ‘ 3 cm

i ) .
3I9RE o IMER W, fafafad geai & 3T i -
(i)  =JF ODCO T &THA T 8 ?

(ii) A AOB %I &% FTd IV |

(iii) (%) ABCD SHTehd HFT ol feat W 1 ol @ w1 8 2
HAAT

(ili) (@) =9 CD ! A8 &1 & ?

30/2/1 ~~~~ Page 18
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35. (a) Sides AB and BC and median AD of a triangle ABC are
respectively proportional to sides PQ and QR and median PM of
A PQR. Show that A ABC ~ A PQR.

OR

(b)  Through the mid-point M of the side CD of a parallelogram ABCD,
the line BM is drawn intersecting AC in L and AD (produced) in E.
Prove that EL = 2BL.

SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. In an annual day function of a school, the organizers wanted to give a
cash prize along with a memento to their best students. Each memento is
made as shown in the figure and its base ABCD is shown from the front

side. The rate of silver plating is ¥ 20 per cm?2.

3 C

A ﬂ#

Based on the above, answer the following questions :

(1) What is the area of the quadrant ODCO ? 1
(11)  Find the area of A AOB. 1
(111) (a) What i1s the total cost of silver plating the shaded part
ABCD ? 2
OR
(111) (b)  What is the length of arc CD ? 2

30/2/1 ~~~~ Page 19 P.T.O.
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ThI0T AEFYA - 2

37. U HI%Bl GhH H bl a T@ & 9 H U Gl 8 | T HY SRR 2
e =IE 7 cm 991 S8 14 cm 8 3R EU Y AN THR 6 3
&1 = 21 em 7 |

39 o IMER W, F=feifagd geai o 3w i

(1)  SHThR Y o YR HI &THA AT T | 1

i) (F) AT HY 6 &JHAT T 8 2 2
AT

(i) (@) WETHR Y9 hl JHAT T hifoT | 2

(iii) SRR HY 1 Ish TEII &THA F1 8 ? 1
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Case Study -2

37. In a coffee shop, coffee is served in two types of cups. One is cylindrical in

shape with diameter 7 cm and height 14 cm and the other is

hemispherical with diameter 21 cm.

Based on the above, answer the following questions :

(1) Find the area of the base of the cylindrical cup. 1
(11) (a)  What is the capacity of the hemispherical cup ? 2
OR
(11) (b)  Find the capacity of the cylindrical cup. 2
(111) What is the curved surface area of the cylindrical cup ? 1
30/2/1 ~~~~ Page 21 PT.O.
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ThI0T AT - 3

38. HY-AYUING e fopeft oft vt foreror wgfa =1 dgivia war & S gaA
TERT o [T eI %IWW% | TTAfeh Taemer T W, HedHIfea
q1S FISHISAT ol ISR i o T BRI FTIAN T ITFN {hAT AT HehdT 2 |
319 % 1000 WAfHe TR wreaies foame™i @ ueh gagur fham m o 3R

3ok I TSaH e A, Ik YR W Iz Fifehd feohal 72T AT |

— E—

T

H hl TEAT 1-10 |11-20 | 21-50 |51-=100 i

ferameral @@ | 250 200 290 180 80
T faererd &1 Argesdn =9 foha1 7T | 4l

(i) Igesdn 934 fhu U faeme™ § 100 ¥ 3Afeh R BH hl TTRrehd

;T ST | 1

(i) (%) FgaAT I U MU faemer § 50 A1 50 H hH HRY 8H i
SIEEIESIGEC IS 2

HAAAT

(i) (@) Igesdr 994 T MU fqemed | 20 § AUs P 7 8 6
qTRIhdT T ShIftTT | 2

(if)  Irg=eAl = fopw T o™ H 10 AT 10 | HH FRY B hl TR
T HINT | 1
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38. Computer-based learning (CBL) refers to any teaching methodology that
makes use of computers for information transmission. At an elementary
school level, computer applications can be used to display multimedia
lesson plans. A survey was done on 1000 elementary and secondary
schools of Assam and they were classified by the number of computers

they had.

Case Study -3

— —

Number of 1-10 |11-=20 | 21-50 |51 —100 |1012nd
Computers more
Number of 250 200 290 180 80
Schools

One school 1s chosen at random. Then :

(1) Find the probability that the school chosen at random has more
than 100 computers.

(11) (a)

i1)  (b)

(111) Find the probability that the school chosen at random has 10 or

OR

less than 10 computers.

30/2/1 ~~~—~
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Find the probability that the school chosen at random has
50 or fewer computers.

Find the probability that the school chosen at random has
no more than 20 computers.
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